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HISTORY

Paper : HIS-HC–4016

( Rise of the Modern West )

( Honours Course )

Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

GROUP—A

[¤®¡àK—A¡

1. Answer the following questions in brief : 1×6=6

t°∫t° [É⁄‡ ö¯≈óŒ≥Ë“π W°≥ÂÓA° l°¸v°π [∫J‡ :

(a) Name the earliest nation-state of

Europe.

“¸l°¸Ïπ‡öπ ö¯=≥J> \‡[t°-π‡ °ˆπ >‡≥ [∫J‡°˙

(b) Name the first monarch of Bourbon

dynasty of France.

Û¯°‡Xπ §Âπ§> §}≈π ö¯=≥\> π\‡π >‡≥ [∫J‡°˙
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(c) In which year the Battle of Naseby was

fought?

ÎA°‡> W°>t° Î>W°[§π ôÂá˝° Ì“[·∫?

(d) Who invented telescope?

ÎA°‡Ï> Îi°[∫Ï—H‡ö "‡[ØÕH‡π A°[π[·∫?

(e) Name the book written by Sir Isaac

Newton.

W°‡π "‡“¸\‡A° [>l°¸i°Ï> [∫J‡ [A°t°‡öJ>π >‡≥ [∫J‡°˙

(f) Name the country of Europe where

parliamentary monarchy was first

developed.

“¸l°¸Ïπ‡öπ ÎA°‡>J> ÎÉ≈t° ö¯=≥Ït° Œ‡}[§ã‡[>A°
π‡\t°î|π "‡π¥±[o Ì“[·∫?

2. Answer the following questions in short :

2×5=10

t°∫t° [É⁄‡ ö¯≈óŒ≥Ë“π W°≥ÂÓA° l°¸v°π [∫J‡ :

(a) Mention two social effects of 17 century

crisis.

17 ≈[t°A°‡π Œ}A°i°π ÉÂi°‡ Œ‡≥‡[\A° öǢ°‡Ø [∫J‡°˙

(b) Name two natural philosophers of 17th

century.

17 ≈[t°A°‡π ÉÂ\> ö¯‡Aı°[t°A° É‡≈¢[>A°π >‡≥ [∫J‡°˙

(c) Name two paintings of Leonardo da

Vinci.

[∫*>‡ÏÉ¢‡ É‡ [Æ°[Xπ ÉÂJ> ·[§π >‡≥ [∫J‡°˙
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(d) Give two theories of imperialism.

Œ‡¥˜‡\∏§‡Éπ ÉÂi°‡ ŒËy [∫J‡°˙

(e) Give two reasons of American

Revolution of 1776.

1776 W°>π "‡Ï≥[πA°‡π [§ö√Øπ ÉÂi°‡ A°‡πo [∫J‡°˙

3. Write short notes on any four of the

following : 6×4=24

t°∫t° [É⁄‡ [ô ÎA°‡Ï>‡ W¡à[¹i¡à¹ *öπt° W°≥Â Îi°‡A°‡ [∫J‡ :

(a) Economic dimension of 17th century

crisis

17 ≈[t°A°‡π Œ}A°i°π "=¢Ó>[t°A° [É≈

(b) Art and architecture of renaissance

>Ø-\‡Kπoπ Œ≥⁄π A°∫‡ "‡πÁ° —Ç‡öt°∏

(c) Francis Bacon

Û¯°‡[XW° Î§A°>

(d) Concept of imperialism

Œ‡¥˜‡\∏§‡Éπ ã‡πo‡

(e) Catherine II as an absolute despot

Î—¨Z·‡W°‡π„ ≈‡ŒA° [“W°‡Ïö ÎA°=[π> [át°„⁄

(f) Money economy

≥Ââ‡ "=¢§∏Ø—Ç‡
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GROUP—B

[¤®¡àK—J

4. Answer any four of the following questions :

10×4=40

t°∫t° [É⁄‡ ö¯≈óŒ≥Ë“π [ô ÎA°‡Ï>‡ W¡à[¹i¡à¹ l°¸v°π [∫J‡ :

(a) Discuss the factors which led to the

emergence of nation-states.

\‡[t°-π‡ °ˆ Kk°>π A°‡πoŒ≥Ë“ "‡Ï∫‡W°>‡ A°π‡°˙

(b) What light does the intellectual current

throw on the English Revolution?

Î§Ô[á˝°A° ã‡π‡“¸ “¸}π‡\ [§ö√Øπ *öπt° [A° "‡Ï∫‡A°ö‡t°
A°Ïπ?

(c) Trace the developments of different

branches of science in 16th–17th

centuries in Europe.

16–17 ≈[t°A°‡π “̧l°¸Ïπ‡öt° [§`°‡>π [§[Æ°ƒ [§»⁄π
l°¸ƒ[t°π [§»Ï⁄ [∫J‡°˙

(d) Discuss the measures taken by Great

Britain to expand trade under

mercantilist policies.

§∏ØŒ‡⁄ §Â[á°̋ A°[π§Ó∫ ÎN¯i° [§¯Ïi°“Ï̧> Î∫‡Ø‡ §[oA° >„[t°π 
[§»Ï⁄ "‡Ï∫‡W°>‡ A°π‡°˙
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(e) Write about the constitutional

developments in England in 17th–18th

century.

17–18 ≈[t°A°‡t° “}̧Ï∫r°t° Î“‡Ø‡ Œ‡}[§ã‡[>A° l°¸ƒ⁄>π
[§»Ï⁄ [∫J‡°˙

(f) What is putting out system? Write about 

its advantages and disadvantages.

öÂ[i°R° "‡l°¸i° §∏Ø—Ç‡ [A°? “¸⁄‡π ŒÂ[§ã‡ "‡πÁ°
"ŒÂ[§ã‡Œ≥Ë“π [§»Ï⁄ [∫J‡°˙
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